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1 BIES 1kg 1 |®ES 1keg
2 |EEf 1kg 2 |EE Rl 461| 1kg 2,700 1,080
3 Kahvh kg 3 Kahvb 1kg
4 |&F 13- 355 kg 497 108] 4 |&(E 1keg
5 &L E-=% 203| 1kg 3,132 626) 5 |&HL kg
6 |LvbL 250 110]  1ke 464 324| 6 |LvbL 1keg
7 |[$5HLD | BR-1EH 207 1kg 1,080 454) 7 |FB5HL\D kg
SAE dtiEE 982 1kg 4,320 1,620] 8 |SAFE kg
9 [AY =4 A 59| kg 3,132 9 |3 Tkg
10 |&ZL kg 10 |&ZL 1kg
1 |28 Ri& 93] kg 864 810 11 |2 kg
12 |f=Ly == 270 1kg 1,404 918| 12 |f=Ly kg
13 |IFFL =0 18| kg 540 13 |IFFL 1keg
14 |[hhiy 1kg 14 |Ahis Tkg
15 (OB 1kg 15 | 058 dtiEE 210| 1kg 3,240 2,160
16 | AN Tkg 16 | AN Tkg
17 |2 U A7 15| 1ke 4,212 17 [RWY 1kg
18 | PYLyA Ri& 8| kg 2,970 18 [PYLyh kg
19 |f=C itigiE 8] kg 3,240 19 |2 1kg
20 | Tkg 20 |vE Tkg
21 |HaY Z50 10| 1kg 2,592 21 |BHEY 1kg
22 | RAHWP 158 22 |\ XRHYP | KB 133 15 14,040 324
23 |HEEHP | B 175 kg 2,592 2,268| 23 |EEHD 1kg
24 | E B4 hE 165| kg 5,940 4,104| 24 |5%F 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 |HFES 1kg 26 |HFES 1kg
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1 |&aST Y7 -7Y 376] 1kg 2,808 1,026] 1 |{ESIT 7! 536| 1kg 1,512 1,404
2 |AhIz Y7 N by 196 1ke 4,990 4,752 2 [EE IhT= R 321| 1kg 1,447 918
3 |AAY B -TITE L 479 1kg 4,320 1,166) 3 |iExAF | dbiEE 350| 1kg 2,160
4 |AFLbL 1kg
5 |[FAHL  |=-8iR 316] 1#& 292 130
6 [ bYDHA ZH 131] 1kg 2,700 2,484
1_|IhNEF Tkg




